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QUESTION 1

Which statement describes Tekton? 

A. It is an integrated OpenStack program which aims to provision bare metal machines from the OpenShift Container
platform 

B. It is a Block Storage service for providing volumes to virtual machines, bare metal hosts, containers and more 

C. It is an Open Source project that allows provisioning, managing and running virtual machines from and within
Kubernetes environments like OpenShift 

D. It is an open source project that provides a framework to create cloud-native CI/CD pipelines quickly 

Correct Answer: C 

 

QUESTION 2

Application owned asynchronous capabilities, like messaging and events, must exhibit which features to align to agile
integration paradigm? 

A. Simple deployment topology for high availability configuration 

B. Ability to convert message to events and vice versa 

C. Self-provisioning and self-administration capability to allow development agility 

D. Common collection of logs across several instances for rapid administration 

Correct Answer: A 

 

QUESTION 3

What are two Aspera use cases? 

A. Send and share large files and folders stored in on-premises data centers and major clouds 

B. Secure and reliable transfer of sensitive data, such as payment information, between applications 

C. Managed file transfer capabilities using messaging transport to move data 

D. Create distributed event-streaming platform to ingest a large volume of data in real-time 

E. Data migration to, from, and between on-premises data centers and any major cloud 

Correct Answer: BC 

 

QUESTION 4
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Which statement is true about the Monitoring component of Cloud Pak for Integration? 

A. It is built on the ELK stack 

B. Data persistence is not enabled by default 

C. Only a user with role ClusterAdministrator can perform write operations 

D. It requires an additional license 

Correct Answer: D 

 

QUESTION 5

What is the minimum number of CPU cores that are required to install the Cloud Pak for Integration Common Services? 

A. 16 cores 

B. 2 cores 

C. 4 cores 

D. 8 cores 

Correct Answer: C 
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